Ledhove l6R 123« Vovrboug shreldhes +ompresd ioy. . Q

Quiz 7) '\‘o%’

~NJ

Rernen Hoviontle + Verhcod W Hravilabmg
r reHeckony

Desycviae hew H lleain
H1 on board oF :v:_-. FD\lwa f»achw'u. MW

a) Y=F01 1wy Y Lig)
C (X)= +
DY 9= —{(—) A

@h &) y=dor =S

oo AL ¢d AN e willdo Hhad Tugernay)

W\r\‘. lek Fe0) b,g,o\"?w\zkm. My ard QA any rumne numbeg
T, Hneqrabh oF y=aftx) i

1) Shreddnaeh mewf)\% o Fuekr o Lol 1y lal>

2 Wmpepged vorh by o buckor of 15, 1+ 0 <lal<|
B) 1} (AU we 0";\‘ -? (s veticekd Qleut X~CAK1!
Bt W g s uiey w\ an explick o mula

J:Uf e %\M,w\\m& whed- Preivgapha dlock_

Ly .
NS : Fachrod
; 3LA\JfWVYrI\w¢A voviioty by a
.

L) ~gEK) gy B8 rdudkd ovo N 0L Y-ous,




S A @
) g (x-$) g k) hmmmﬁcwj shiftee by the.

5 V.ZML Hran shdzkuk Aa o duckeof-
a4 )



